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4. Comparative advantage means that one country can produce {A) more of a good

S - - than-another country can. (B) a good at lower marginal cost than-another country — - —— .-
can. (C) a good at lower long-run average total cost than another country can. (D) a
good at higher opportunity cost than another country can. (E) a good at lower
opportunity cost than another country can.

5. Excess capacity occurs (A) in perfect competition. (B) in monopolistic competition.
(C) in monopoly. (D) in oligopoly.

6. If it is true that I, as an oligopolist, am faced by a “kinked” demand curve, it is
because: (A) my competitors will match any price cut I might make, but not any
price increase. (B) my position is sufficiently close to monopoly that I do not have
to worry over the reaction of any competitors to any price change I might make.
(C) my competitors will match any price increase I might make, but not any price
cut. (D) my competitors will match any price cut or increase I might make.

7. The demand curve facing a monopolistically competitive firm is typically (A)
perfectly elastic. (B) more elastic than the demand curves facing either
monopolists or perfect competitors. (C) more elastic than the demand curves
facing monopolists, but less elastic than the demand curves facing perfect
competitors. (D) less elastic than the demand curves facing either monopolists or
perfect competitors..(E) perfectly inelastic.

8. With perfect price discrimination, (A) the marginal revenue curve becomes steeper.
(B) the demand curve also becomes the marginal revenue. (C) the demand curve is
steeper than the marginal revenue. (D) the demand curve is not as steep as the

marginal revenue. (E) there is no way to define marginal revenue. ' EEAE A
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